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1. Definition and its effecter:
It is the thing on which the action in the verb is implemented. It is ‘«s»=is’ and

its effecter is the verb or a verb-like.
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2. Forms:

1) oAl ayp

2)  “Jasall AP

Example: «... lis 4af aal JSU of sSaal Gyl e, L OST aSaal Can

3) ¢ jmanall?
Example: “ouaiwi SUJ g 2ms SLI”
4)  cddaplr

Example: “&lde ) J&”
5)  Cossaall gl
This is in the verbs that get transitive by )’ preposition.

Example: “a s 4 cad 4l a e bl Ll

Principles in ‘43 Js2dal)’;

1)  The object must not precede the subject but sometimes this changes and

this change is:



1. ‘%9 (necessary) in three cases:

A. The object is a connected pronoun and the subject a noun.
Example; “l yaall 3 ém: e.ala A A8l 453l

B. A pronoun connected to the subject refers to the object.
Example: “cilalsy 45 ) anl ) il 3

C. The subject is specified by ¥\’ or Li)’,

Example: “s ) lealay ¥ cual) ilia sxic”

2. ‘s)s (unnecessary), when an indicator signifies it and its precession is
not necessary.

Example: “ad Luid 435 lea Sa Gls¥l) Gua 137

2)  Precession of the effecter to the object; but sometimes this changes and
this change is:

1. ‘w8y

A)  When the object has to come in the beginning

Example: s 5 a cle

B) When the object is the answer to the conditional ‘%I” and there is nothing
between.

Example: e S aidl e

2. ‘wJ)s’ when there is an indicator
Example: “osti i 51031 8 | Jan) mela LS



